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Good luck with your exams! Remember: Practice! Practice! Practice!
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QUESTION 9 (Start on a new page.)
9.1 The diagram below represents a simplified version of an AC generator.

The induced current flows from X to Y in the coil when the coil is rotated
clockwise, as shown in the diagram below.

9.1.1 What is the polarity of A? Choose from NORTH or SOUTH. )

9.1.2 State ONE way in which the induced emf of this generator can be
increased. )

9.1.3 Sketch a graph of induced current versus time for ONE complete
rotation of the coil from the horizontal position, as shown in the
diagram above. 3)

9.2 An AC generator produces a maximum output voltage of 340 V. A 1 200 W
electric kettle operates optimally when it is connected to this generator.

9.21 Define the term root mean square current. )
922 Calculate the root mean square current passing through the kettle. @)

9.23 Calculate the resistance of the kettle. 3)
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Study the diagram of a simple generator below and answer the questions that follow.

O clockwise

N s
Load
R,
9.1 Is this an AC or a DC generator? Give a reason for the answer. )
9.2  State the energy conversion that takes place in this generator. )

9.3 In which direction will the induced current flow? State only from a to b or from
btoa. )
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The diagram below shows the emf time graph for one complete rotation of the
coil.
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Calculate the resistance of the load, Ry, if the value of Ims is 4,55 A when the
Vmax is 150 V.

Load Ru is now replaced with a bulb with a power consumption of 400 W.
Assume that the bub is 100% effective and calculate the light energy emitted
by the bulb in 3 minutes.

The speed of rotation of the coil is now DOUBLED.

9.6.1 Redraw the above diagram in your ANSWER BOOK. On the same
set of axes, indicate the old and the new pattern obtained. Label the
new pattern B.

9.6.2 With what factor will the energy emitted change if the speed of
rotation of the coil is doubled (two times faster)? Explain the answer.
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